
TT-E5A

Little rubber feet

End of bottom plate

Cable sheath

Wiring column base

Power cable

Wire protecting sleeve

Earthing wire component

Rear seal plate

Screw

Nut

Cover nut

Spring washer

Black rubber

Aluminum-plating zinc 
plate T=0.8

¢24-¢17 White

Fourth Little 1004A 15A

With plug YZW 3.0x1.0ｍ
²x1.7m/pc

430 T=0.6

Black plastic with Ø16

Copper

430 T=0.6

M5 x20 screw/cover zinc

M5 nut/zinc

M6 cover nut/S/S

¢6 spring washer/S/S

Wiring post

Long under twist 

Under base rear seal plate

Twist axis

Short up twist

Up waffle plate

Nut

Handle

Under waffle plate

Heating pipe

Nut

Screw

Electric heating pipe plate

Screw bolt

Galvanograph

Screw

Baffle plate

Insulated cotton

Shell

Top cover screw

Screw

Bottom plate support frame

Cover nut

Body component

Directing light

Switch

Thermostat

Film

Screw

Knob

Timer

Timer knob

Cast aluminum

430 T=0.6

Threaded rob/S/S  M6

Cast aluminum

Cast aluminum

M10 nut/s/s

Plated handle

Cast aluminum

Ø 6.6 120V.0.5KW

M4 nut/ plated zinc

M4x30 screw/ring head 
zinc plated

Cast aluminum plate T=1.0

M10x16 screw bolt/
hexagon zinc

Q235 T=1.9

M6x45screw/hexagon iron 
black

Mica sheet

Superfine glass cotton

430

Q235

M4x12 screw/ring head  
S/S

430 T=2.0

430 T=0.6

M10 cover nut/s/s

Directing light/ yellow 
LBx14-220V
White 0-1-BR-21-2HH

Thermostat 300 ℃

50-300 ¢58（black)

M4x8screw/ring head
zinc plated
Temperature(little)¢41 

Timer 5 minutes DKJ/1-5 
16A 250V
TimerKnob5minutes （with 
arrow)


